EEKR (BEERITHT HEBRKR)

RS ERUHE L REOTIER ERMHBHRE RE - BR - HEVRRUEE - BABE
18 i #iE BE s BiE&
BREE = (54D | BRFE (50 | ERE G5 | BIRES = () | BHE (ED) | EHE G5 | BEEE s (EED) | BEE G5 | EEE (G5E)
Big BiE BiE
B #iiE %fe
BEBEOR | 10% | GF | 0% | GF | 0% | 0F |- ERFE [4EL | (25 |11.98] GF) | 48 | (%) |- ZEBA(D | 33.06 | QOFRE| 29.15 | OFRE(3.0v | (2%
RIKEDBE ) ) £ |omEEH b | HERESAE %) E3) ATE)
. KMBADE | 10006 | (4% | 1000 | (3% | 10006 | (% | | | |
RAEBRGE ) ) ) | |
- BSEWMAERK | 100% | (4F [ 100% @ (3% | 100% (2% } |
ETE ) ) ) | | |
| | | |




